Trade: Logistics							
Sr. No.	Name of Equipment	Specification	Images of Tool and Equipment	Quantity	Approx Price Per Unit	Total	
1	Projector	Branded LED Projector having native resolution 1280*800 (WXGA) or higher.Brightness: 3800 or higher, Minimum life of light: 20,000 or higher, Optical zoom: Yes, 110 or higher, On -Site OEM warranty: 3 yrs or higher, HDMI input, In-built speaker. Wall/Ceiling mount.		1	28000	28000	
2	India and World Political Map	Size:100*140 cm, Extra Large size: India and World Political Maps (Laminated)	COMBO OF 2 MAPS WORLD POLITICAL Laminated Extra Large Size (100x140 cm)	1	600	600	
3	Sealing Machine	Corded Electric 8 inch Plastic bags sealing machine with manual operations under warranty. Material: Plastic and alluminium		1	1000	1000	
4	Bubble Wrap Roll	Good qulaity transparent multipurpose bubble wrap/roll 50 m long and 1 feet wide		2	350	700	
5	Tape Roll	Pakaging Tape roll: 48mm *50 m. Colour: Brown and Transparent (clear) Pack of 24 each		2	400	800	
6	Tape Dispenser with cutter	Multipurpose Tape Gun Dispenser/Manual Hand Tape Cutter Sealing Device. Material: Metal and Plastic. Fit Tape Roller Inner Dia: Min: 71mm/ 2.8		2	250	500	
7	Staple Gun	3-in-1 Heavy duty stainless steel staple gun compatible with D-type 10.6 or 11.3 x 1.2 x 4-14mm, U-type 6.3 x 1.2 x 10-12mm and T-type 2 x 1.2 x 10- 14mm staple pins		2	600	1200	
8	Basic 5s charts	Size:100*100 cm, Extra Large laminated Basic 5s (Sort,Set in order, Shine, Standardize,Sustain) Chart	Substitute of the state of the	1	300	300	
9	Pallets	Good quality plastic pallet with perforated top having dimensions: 1200*1000*135mm. Static load capacity of 2000kgs		2	1500	3000	
10	Storage Crates	Heavy Duty big multipupose crate with handles and having dimensions: (60 W*40 L*32H) cm. Pack of 3		2	1500	3000	
11	Tarpaulin	9FT X 9FT 150 GSM Red Tarpaulin Tirpal Tadpatri Tharpai Thadika, Extra Strong, Reinforced Eyelets, UV Resistant, Waterproof, 6 Layer MLCL 3D Rib Technology-1 No.		2	1000	2000	
12	Reflective Safety Jacket	Good quality reflective armless jackets made up of tough and durable polyester.V neck with regular fit type		10	250	2500	

		1		<u> </u>	T	1
13	Safety Goggle	Full rim polycarbonate transparent goggle with good durability and scratch resistant		5	100	500
14	Safety Cones	Good quality PVC safety cone (set of 6) with 6 meters S hook safety chains having black rubber weighted base and highly visible reflective collar		2	1500	3000
15	Cutter Knife	Heavy Duty Multipurpose auto lock cutter knife. Body material: Plastic. 18mm cutter blade with rubbered handle (Pack of 2)		2	250	500
16	Scissors	Heavy Duty Multipurpose scissors made of stainless steel with rust resistant material. Size: medium and large (Pack of 2)		2	250	500
17	Deck Mop	Good quality floor cleaning cotton mop having handle of 4.4 ft long		2	200	400
18	Cleaning Chemicals	All in one good quality floor cleaning chemical. Pack of 5 Ltr.	ALL-1	1	300	300
19	Weighing Machine	Branded Digital weighing machine with 100 kg or higher Capacity and 10g Accuracy. Made up of Mild Steel Heavy Platform size 18x18 Inches (450x450mm) with warranty.Material must be rust free with removable pole and head for convenience		1	4000	4000
20	Dome Camera	2MP Full HD Smart Wi-Fi CCTV Home Security Camera, 360° with Pan Tilt, View & Talk, SD Card (Upto 128 GB), IR Distance 10mtr, infrared LEDs and night-vision technology, Wireless	Antibase	4	2000	8000
21	Fire Extinguisher (5 KG ABC type)	Carbon steel ABC dry powder type (5 Kg)		1	1500	1500
22	First Aid	branded first aid kit with all general purpose items i.e.betadine,micropore,bandage,bandaid,d ettol,pcm,painkillers etc.		1	1000	1000
23	Safety Signs	Large Size safety sign board for: "NO Entry", "CCTV", "Fire Exit" made up of good quality board and clear printing	YOU ARE UNDER CCTV SURVEILLANCE	3	200	600

24	Safety helmets	Color - Yellow, Weight - 300 grams, Material - High Density Polyethylene		5	400	2000
25	Smoke Detectors	Power source - Battery, Color - White, Weight - 220 g, Sensor type - ionization	- FES.	5	800	4000
26	LED Monitor	Branded 53.5 - 55.5 CM Liquid Crystal Display LED Panel or Monitors (21.5 inch (54.61 cm) IPS LED Backlit Computer Monitor - Full HD) - with warranty		1	7500	7500
27	Wired Branded Keyboard Mouse Kit	USB (Full Size) Wired Keyboard & Mouse Combo(Black) with numeric keys.Compatible with latest window version - with warranty		1	1000	1000
28	CPU (Central Processing Unit)	12th Gen Intel Core i5-8GB RAM/1 TB HDD/Windows11/MS Office 2021/Integrated Intel UHD Graphics/WiFi 5/Bluetooth 5.0 (with 3 years warranty)	DQ11	1	40000	40000
29	Torch Light	Light source - LED, Material - Plastic, Battery powered	are and the second	2	450	900
30	Specimen Identity Card	Blue threads, plastic holders.visitor cards/ID cards	STATE COLOR OF THE	5	100	500
31	Hard Disk	Branded internal hard disk with 1 TB memory under warranty	In The Service of the	1	3000	3000
32	Digital Video Recorder	Branded 1080P Full HD 8 Channel Digital Video Recorder. with warranty	**************************************	1	5000	5000
33	Wire	Branded 3+1 Coaxial Pure Copper CCTV Camera Cable (90 Meter) with warranty		1	1500	1500
34	Printer	Branded multifunctional laser printer (Max Print resolution(Mono)600X600 dpi, Print Speed mono-18 ppm, Duplex Mannual, Input Tray Capacity minium-100 pages, Scaning Speed -10 Sec, Copy resize-30%-40%, Copy Resolution 600X400 dpi, Copy Speed Mono-18 cpm) with warranty		1	12000	12000
35	White Board	Whiteboard Drywipe Magnetic with Pen Tray and Aluminium Trim Dimensions: 6 ft x 4 ft		1	2000	2000
36	Necessary Stationaries	Envelope, notebooks, pencils, highlighters, Stapler, Sticky Notes, Markers, Paper Clips, Calculators, Decoration, Desk Organiser, Glue, Note pads, Scissors, Files etc.		1	2500	2500
37	Double Door Iron Cupboard	2 Door Mild Steel Office Almirah with inbuilt shelves (Size: 4ft X 3ft)		1	6000	6000

38	Flip-Chart Tripod Easel Stand	Flip-Chart Tripod Easel Stand, 2x3 Feet magnetic whiteboard, Prime Quality with Legs adjustment. Built-in accessories tray for keeping markers, duster, pointer, buttons etc.		2	2000	4000
39	Steel rack	Heavy-Duty Steel Laminate Storage Rack with Adjustable Shelves		2	3000	6000
40	Bar Code Machine	Laser Linear Barcode Scanner (Epson, Dell or Equevalent)		1	3000	3000
41	labelling machine	labelling gun with labels		1	500	500
42	Tagging Gun with tags	65mm tag clothing garment price lable gun		1	700	700
43	Ladder	Heavy duty alluminium 5 step ladder, load capacity:150kg	A	1	3000	3000
44	Hand Operated Trolley	Branded Platform Trolley with 200 kg Capacity, Steel Portable Foldable Multi- functional Dolly Push Cart with 360 Degree Swivel Wheels		2	3000	6000
Total						175000